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Financial Accounting Part-1 Chapter 2

Theory Base of Accounting Class 11

Chapter 2 Theory Base of Accounting Exercise Solutions

Short answers : Solutions of Questions on Page Number : 37 Q\
Q1: 2 A/

Why is it necessary for accountants to assume that bus x
going concern? %

Going Concern Concept assumes that the bus @ 5 will continue its operation for
an indefinite period of time. !t is necessary me so, as it helps to bifurcate
revenue expenditure (i.e. expenditure r rrent year), and capital expenditure
(i.e. expenditure whose benéfi - eriod of time). For example, a

expected life of 10 years, will be treated as
be availed for more than one year; whereas, the

will remain a

Answer :

a capital expenditure, a
per year dgpréCiation of th
expenditdre.

Ans;v’\;er Ns Corr%

\

Answer i

.....

Revenue should be recognised when sales take place either in cash or credit and/or
right to receive income from any source is established. Revenue is not recognised, in
case, if the income or payment is received in advance or the payment is actually
received from the debtors. In a nutshell, revenue will be recognised when the right to
receive income is established. For example, Mr. A sold goods in January and received
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payment in February; then revenue is considered to be recognised in the month of
January and not in February. However, if Mr A received cash in advance, i.e. in
December and goods are sold in January, then the revenue is recognised in January
and not in December.

The exceptions to this rule are given below.

1) Hire purchase- When goods are sold on hire-purchase system , the amoun
received in instalments is treated as revenue.

2) Long term construction contract- The long term projects like con &of ms,
highways, etc. have long gestation period. Income is recognlsed on te basis
of work certified and not on the completion of contract.

Answer needs Correction? Click Here

Q3:
What is the basic accounting equation?

Answer :

It means that all-the'money all assets of a firm are equal to the total
Vs,

Ansyy’ér nids Corr@ k Here

coneept de‘términes when goods sent on credit to customers are
Wythe saleé figure for the purpose of computing the profit or Ioss

.....

determine when o mclude a transaction in the sales figure for the period. When
the goods have been:

a. dispatched b. invoiced

c. delivered d. paid for

Give reasons for your answer.
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Answer :

According to the realisation concept, revenue is recognised when an obligation to
receive the amount arises. When the goods are invoiced, it is treated as the transfer of
ownership of goods from the seller to the buyer and hence the revenue is recognised.

Answer needs Correction? Click Here

Q5: \
Complete the following work sheet:

ui% this by making sure that all possi
O t.

1 is best exemplified by the

(1) If a firm believes that some of its debtors may 2default™, it 1%
recorded in the books. This is an example of the

(i) The fact that a business is separate and distingui

(ii1) Everything a firm owns, it also owns out to so co-incidence is explained by the

(iv) The concept states that if stralg% of depreciation is used in one year, then it shot

next year
(v) A firm may hold stock which is heavi mand. Consequently, the market value of this stock may be in
accounting procedure is nore m fthe_ N |

(vi) If a firm receives a uld not be included in the sales figure owing to the

bly incompetent, but the firms accountants can not take this into acco
concept.

(vii) The mz}na'gér'huér'l‘two.f a i
book/of accounts beca

& that some, of its debtors may “*default™?, it should act on this by making sure that all possi
the books. Thl§ is an example of the conservatism concept.

(i1) “The fac business is separate and distinguishable from its owner is best exemplified by the business e
(i) EverY£hing a firm owns, it also owns out to somebody. This co-incidence is explained by the dual aspect co

(iv) The consistency concept states that if straight line method of depreciation is used in one year, then it shoulc
next year.

(v) A firm may hold stock which is heavily in demand. Consequently, the market value of this stock may be in
accounting procedure is to ignore this because of the conservatism.
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(vi) If a firm receives an order for goods, it would not be included in the sales figure owing to the revenue recos

(vii) The management of a firm is remarkably incompetent, but the firm's accountants cannot take this into accon
book of accounts because of money measurement concept.

Answer needs Correction? Click Here

Long answers : Solutions of Questions on Page Number : 38

Q1:
'The accounting concepts and accounting standards are general &d ta¥as
the essence of financial accounting'. Comment. . A

Answer :
inancial statements and

t is performed according to
easurement, Consistency,

Financial accounting is concerned with the pr
provides financial information to various account
the basic accounting concepts like Business E

and incomparability of ng different business entities. In order to
mitigate inconsistency and ility and to bring uniformity in preparation of the
financial statements, accou L dards are being issued in India by the Institute of
Chartered Accountant . ACcounting standards help in removing ambiguities and
:ting standards and accounting concepts are referred as

Q2: \
Why is 'ii“importa"r'i"t“to adopt a consistent basis for the preparation of financial
statements? Explain.

Answer :

Financial statements are drawn to provide information about growth or decline of
business activities over a period of time or comparison of the results, i.e. intra-firm
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(comparison within the same organisation) or inter-firm comparisons (comparison
between different firms). Comparisons can be performed only when the accounting
policies are uniform and consistent.

According to the Consistency Principle, accounting practices once selected should be
continued over a period of time (i.e. years after years) and should not be changed very
frequently. These help in a better understanding of the financial statements and thus
make comparisons easy. For example, if a firm is following FIFO method for recerding
stock, and switches over to the weighted average method, then the result

year cannot be compared to that of the previous years. Although consi

does not prevent change in the accounting policies, but if change ingt IEics is
essential for better presentation and better understanding of the i ialY€sults, then
the firm must undertake change in its accounting policies an

x disclose all the
imancial statements.

relevant information, reasons and effects of thos nge@
Answer needs Correction? Click Here \

Q3:
Discuss the concept-based on the pre % anticipate profits but provide
for all losses'.

Answer :

According to the Conserva
losses should be accou
profits’should not be re

e, profits should not be anticipated; however, all
\ ctive whether they occurred or not). It states that
ntil they get recognised; however, all possible losses
éarely, should be provided. For example, stock is valued
ichever is lower. If the market price is lower than the cost
accountg‘a; whereas, if the former is more than the latter, then this
t be recordgd' until unless the stock is sold. There are numerous
maintained based on the conservatism principle like, provision for

r

discount.to debto

common sense and depicts pessimism. This also helps the business to deal uncertainty
and unforeseen conditions.

Answer needs Correction? Click Here

Q4 :
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What is matching concept? Why should a business concern follow this concept?
Discuss?

Answer :

Matching Concept states that all expenses incurred during the year, whether paid

or not, and all revenues earned during the year, whether received or not, should be
taken into account while determining the profit of that year. In other words, eRses
incurred in a period should be set off against its revenues earned in the s

accounting period for ascertaining profit or loss. For example, insuran
for a year is Rs1200 on July 01 and if accounts are closed on Marcs y year,

then the insurance premium of the current year will be asc ine months (i.e.
from July to March) and will be calculated as,

>

900 will be taken into
fit of only Rs 900 is availed

Rs 1200 - Rs 900 = Rs 300

Thus, according to the matching concept, the ex
account and not Rs 1200 for determining profi
in the current accounting period.

The business entities follow this conce ascertain the true profit or loss during
an accounting period. It is [ Aai,| me accounting period, the business
may either pay or recei a or may not belong to the same
accounting perlod Th| overcasting or undercasting of the profit or loss,
which may not feveal the*

concerned accounting pgmiggd arly, there may be various expenditures like,
purchése f machiner ings, etc. These expenditures are capital in nature and
their be&n iled*over a period of time. In such cases, only the depreciation

S an:,fexpense and should be taken into account for calculating
ncernec'if’year. Thus, it is very necessary for any business entity to
ing concept/

Q5:

What is the money measurement concept? Which one factor can make it difficult
to compare the monetary values of one year with the monetary values of another
year?
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Answer :

Money Measurement Concept states that only those events that can be expressed in
monetary terms are recorded in the books of accounts. For example, 12 television sets
of Rs10,000 each are purchased and this event is recorded in the books with a total
amount of Rs 1,20,000. Money acts a common denomination for a!l the transactions

and helps in expressing different measurement units into a common unit, for e ple
rupees. Thus, money measurement concept enables consistency in main

accounting records. But on the other hand, the adherence to the mon urenmgnt
concept makes it difficult to compare the monetary values of one p '@t ato
another. It is because of the fact that the money measurement c% r

changes in the purchasing power of the money, i.e. only the a ue of money is
concerned with and not the real value. What Rs uld b, back cannot buy
today; hence, the nominal value of money ma | icult. In fact, the real
value of money would be a more appropriate m considers the price level
(inflation), which depicts the changes in profits, gnhcomes, assets and

liabilities of the business.

es the
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